
MATH 2201 

RADICALS TEST REVIEW 

 

1. Simplify the following. 

 

 (a)  3 6481       (b)  25273       (c)  75      (d)  
3 24      (e)  98      (f)  

3 54  

 

2. Express as an entire radical. 

 

 (a)    73         (b)    
3 32         (c)    24         (d)    3 45  

 

3. Perform the operations indicated and express the answer in simplest radical form. 

 

 (a)  737974       (b)  274812       (c)    8545432
2

1
202    

 

4. Determine the perimeter of the following diagrams. 

 

 (a)        (b) 

 

 

 

 

 

 

 

 

5. Perform the operations indicated and express the answer in simplest radical form. 

 

 (a)  3483 x       (b)   56142        (c)   24632        (d)  235     

 

 (e)   22233        (f)    5825        (g)   272232334   

 

6. Determine the area of the following diagrams. 

 

 (a)        (b) 

 

 

 

 

 

 

 

 

 

7. Rationalize the denominator. 

 

 (a)   
 5

60

        (b)    
33

5415

        (c)    
2

8

        

(d)    
58

82
   

 

 (e)    
33

24268 
        (f)    

24

452202 
  

 

 

 

 

 

 

20  

45  45  

125  

28  

63  

22  

65  

34  

34  



8. Determine the width of the given rectangles. 

 

 (a)       (b) 

 

 

 

 

 

 

 

9. Simplify the following algebraic expressions involving radicals. 

 

 (a)    694 x         (b)    2272 x         (c)    4503 xx          (d)      xxx 3265 3 
        

 

   
(e)    xxx 243 5          (f)      22 2536 xx 

        
(g)  

x

x

3

12 5

     

 

 
(h)    

x

xx

52

153 3

        
(i)    

x

xxx

3

272124 3

              

 

10. Solve the following radical equations. 

 

 (a)    4x
        

(b)    33 x  
       

(c)    93 x
        

(d)    822 3 x
        

(e)    1823 x
 

 

 (f)  53 x
      

(g)
  

243 x       (h)  14952 x
      

(i)  64233 x
     

 

 (j)
  

10482 x
      

(k)
  

1711153 x  

 

 

 

 

 

 

 

SOLUTIONS 
 

1. (a)    5
        

(b)    – 2
        

(c)    35
        

(d)
    

3 32
        

(e)    27
        

(f)
    

3 23  

2. (a)    63
        

(b)
    

3 24
        

(c)
    

32
        

(d)    3 500  

3. (a)    72         (b)    33
        

(c)    21258    

4. (a)    710         (b)    513  

5. (a)
   

624         (b)
    

76
        

(c)    218         (d)
    

1528          (e)
    

61235   

 (f)
    

1039 
        

(g)
    

6654    

6. (a)    320         (b)    48 

7. (a)   
 

32
      

(b)    215
      

(c)    24

      

(d)    
10

10
      (e)    

3

24
      (f)    

4

10
         

8. (a)    212         (b) 312  

9. (a)    312x         (b)    36x         (c)    215 3x          (d)    230 3x
       

(e)   xx 612 3   

(f)    152412 2  xx
        

(g)  22x
   

(h)    
2

33 2x

        
(i)    

26x
             

 

10. (a)  16x
    

(b)  3 27x  
   

(c)  27x
    

(d)  32x
    

(e)  18x     (f)  28x
    

(g)
  

12x        

(h)  8x
    

(i)  6x
    

(j)
  

22x
    

(k)
  

7x  

 

Area = 5416  

l = 34  

w Area = 9627  

l = 29  

w 


